Kugelgrillwagen

10029762 KLARSTEIN




Sehr geehrter Kunde,
wir gratulieren lhnen zum Erwerb lhres Gerétes. Lesen Sie die folgenden Hinweise sorgfaltig durch und befol-

gen Sie diese, um moglichen Schaden vorzubeugen. Flir Schaden, die durch Missachtung der Hinweise und
unsachgemafien Gebrauch entstehen, Gibernehmen wir keine Haftung.

Gerateulbersicht

124 (1PCS)
25 (2PCS)

KLARSTEIN :




Verzeichnis und Anzahl der Teile

AMS5X10 & X1 G.M8 g X1
B.M6X12 D X4 H.M6 Ei X5
C.MBX50 ap x12 I. M10 i x2
D.M6X45 (CE o X10 JOBX12 \C)) { X1
E M6X16 QW [é X2 K@6X16 ©) | X1
F.M5 @ X1 CH |

© L.@6X12 O | Xt

Montageanleitung

; KLARSTEIN




KLARSTEIN



Hersteller: Chal-Tec GmbH, Wallstra3e 16, 10179 Berlin, Deutschland.

KLARSTEIN




Dear Customer,
Congratulations on purchasing this equipment. Please read this manual carefully and take care of the following

hints to avoid damages. Any failure caused by ignoring the mentioned items and cautions mentioned in the
instruction manual are not covered by our warranty and any liability.

Product Overview

124 (1PCS)
25 (2PCS)

KLARSTEIN :




Directory and number of parts

AMS5X10 & X1 G.Mé g X1

B.M6X12 D X4 H.M6 Ei X5
M g I. M10 X2

C.M6X50 /( v, \m\umwmmmu\umm\u\m\u\um«mw X12 8‘

D.M6X45 (CE o X10 JOBX12 @) { X1

E.M6X16 X2 K@6X16 (0) X11

N
F.M5 X1 L.@6X12 () ' X1
Mounting

KLARSTEIN




KLARSTEIN



Producer: Chal-Tec GmbH, Wallstrafle 16, 10179 Berlin, Germany.

KLARSTEIN




Gentile Cliente,

La ringraziamo per aver acquistato il dispositivo. La preghiamo di leggere attentamente le seguenti istruzioni
per luso e di seguirle per evitare possibili danni tecnici. Non ci assumiamo alcuna responsabilita per danni sca-
turiti da una mancata osservazione delle avvertenze di sicurezza e da un uso improprio del dispositivo.

Descrizione del prodotto

7 (1PCS)

‘
N
H . N
4(1PCS) / 35,(1 PCS)

124 (1PCS)
25 (2PCS)

KLARSTEIN .




Directory e numero di parti

AM5X10 & X1 G.M8 g X1

B.M6X12 B - X4 H.M6 Ei X5

C.M6X50 as x12 . M10 8\ X2

D.M6X45 (CE o X10 JOBX12 \C)) { X1

E.M6X16 S ( X2 K@6X16 © | X11
AN\ N

F.M5 © Xt L.@6X12 Q| Xt

Istruzioni per linstallazione

: KLARSTEIN




12

KLARSTEIN



Produttore: Chal-Tec GmbH, Wallstrafle 16, 10179 Berlino, Germania.

KLARSTEIN




Chére cliente, cher client,
Toutes nos félicitations pour lacquisition de ce nouvel appareil. Veuillez lire attentivement et respecter les

instructions de ce mode demploi afin déviter déventuels dommages. Nous ne saurions étre tenus pour res-
ponsables des dommages dus au non-respect des consignes et a la mauvaise utilisation de lappareil.

Apercu de lappareil

7 (1PCS)

‘
N
H . N
4(1PCS) / 35,(1 PCS)

124 (1PCS)
25 (2PCS)

KLARSTEIN :




Directory et nombre de piéces

AM5X10 & X1 G.M8 g X1

B.M6X12 B - X4 H.M6 Ei X5

C.M6X50 as x12 . M10 8\ X2

D.M6X45 (CE o X10 JOBX12 \C)) { X1

E.M6X16 S ( X2 K@6X16 © | X11
AN\ N

F.M5 © Xt L.@6X12 Q| Xt

Instructions d‘installation

; KLARSTEIN




16

KLARSTEIN



Fabricant: Chal-Tec GmbH, Wallstrafle 16, 10179 Berlin, Allemagne.

KLARSTEIN




Estimado cliente:

Le felicitamos por la adquisicion de este producto. Lea atentamente el siguiente manual y siga cuidadosamen-
te las instrucciones de uso con el fin de evitar posibles dafos. La empresa no se responsabiliza de los dafios
ocasionados por un uso indebido del producto o por haber desatendido las indicaciones de seguridad.

Vista general del aparato

124 (1PCS)
25 (2PCS)

KLARSTEIN :




Directorio y el nUmero de piezas

AM5X10 & X1 G.M8 g X1

B.M6X12 B - X4 H.M6 Ei X5

C.M6X50 as x12 . M10 8\ X2

D.M6X45 (CE o X10 JOBX12 \C)) { X1

E.M6X16 S ( X2 K@6X16 © | X11
AN\ N

F.M5 © Xt L.@6X12 Q| Xt

Instrucciones de instalacion

. KLARSTEIN




20

KLARSTEIN



21

Fabricante: Chal-Tec GmbH, Wallstrafie 16, 10179 Berlin, Alemania.

KLARSTEIN




